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Instructions :

« The figures in the margin indicate full marks.

« Answer eight questions, selecting three each from
Section—I and Section—II and two from Section—III.

« Candidates are required to give their answers in their
own words as far as practicable.

« All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.

e Parts of the same question must be answered
together and must not be interposed between
answers to other questions.
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SECTION—I
wWuEs—I

Critically examine the significance of the
Revolt of 1857 with special reference to
Bihar.

foer &% famiw g=d ¥ 1857 it w9 % 7w &I
TR e fifs)

Discuss the main causes of the Santhal
Uprising. What were its consequences?

ool fasie % g e o faerw ffs) 39 F=
THTE g7

Bring out the salient features of the Patna
Qulam Paintings.

‘qe1 Fom Tel’ it Wy famvanett @t afa fifm)

What was the significance of Champaran
Satyagraha for Peasant Uprisings?

o fERE & o S geme ¥ 9ee W WE
Hifem) :

Define Nationalism. How was it addressed by
Rabindranath Tagore?

gare w gfenfia A ey i3 @ e
R gfenfia fErn?
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Discuss the relevance of Nehru in the making
of modern India.

agfis @ F fufn 3 dww B o B owda
Hifsu |

SECTION—II
wus—II

What do you understand by climate change?
What reasons are attributed to climate
change? What missions have been
constituted wunder the National Action
Plan on climate change formulated by the
Government of India? What steps have
been taken in this regard by the Bihar
Government? Discuss. B

STy TReda ¥ 9 1 wHe 37 ey 9iEd
T T F? ARG TER 5 ey qiedT | i
TET R AT &6 TG FH-HA W Ae Faiia B
¢ #7 TSR WER 50 39 wEy § - eN 330
T 37 Juig i

In the absence of well-educated and
organised local level government system,
Panchayats and Samitis have remained
mainly political institutions and are not
effective instrument of governance. Critically
discuss.
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T hulta w enfea T 'R OA e gonel %
H9E § TEEd U9 Wi, gera: TsHifos e w9
@l & SR WET 1 IHEE 9 T8 99 g R
e weferr <hifsm) '

Public health system has limitations in
providing universal health coverage. Do you
think that private sector can help in bridging
the gap? What other viable alternatives do
you suggest?

TS wWrRe Yad YeH = 4 Wi Wey e
&t Himrd 81 = ores foam @ A &9 33 i stemEn
T H TR H UG kT T GEE R THRA o7 A
FA-8 I 3 faswedt & g a7

Terrorism activities and mutual distrust have
clouded India-Pakistan relations. To what
extent the use of soft power like sports and
cultural exchange could help to generate
goodwill between the two countries? Discuss
with suitable examples.

TRA-TRREE Wl W eeward TRttt
el IfavaE & 9w HeU ® § IF US % ne
deryl ey Wi w6 % fu g @
[l EH-TEE S WF Wi & w@m T €
o T s =nfee? Sfua Semetor afga dwemsT|
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~ SECTION—III
QUE—III

11. Study the following pie chart and ratio table,
which show the percentage of students in
different subjects in a university and ratio of
male and female students in different
subjects, respectively, and answer the
questions given below :

Percentage of students Ratio of male and
in different subjects female students in
in the university different subjects
Subject Male : Female
Economics 3:
Science Computer 53
24% Commerce 5:7
Arts I &2
Science 3:56
Commerce . ; 4
56 Engineering 5:
Management 6:3

Total number of
students = 4800

(a) What is the ratio of male students
studying Science and Arts subjects in
the university? 5

(b) If in the next year, the percentage of
students in Computer subject is
expected to be double, assuming that
the total number of students in the
university and male-female ratio in
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every subject do not change, what
would be the percentage of female
students in Computer out of the total
students in the university?

(c) The difference between male and female
students studying Arts is how much
percentage of the difference between
male and female students studying
Science?

(d) What angle in a pie chart will be formed
at the centre of the circle by the sector
showing the female students studying
Commerce in the university?

fm gafed ofR U@ @l S T wEe: T
et & e Rt § ved I Tt
ofea qen fafm fed T B@ @ SEIE H A
@ﬁ%,mamﬁﬁqamﬁ%ﬁqwmﬁ%m
s

Frvaferer B ffe e 4 i el & 87 @@
ge+ aret el 1 gfawd AT FT SR
[ fa Eﬁ:@ﬁﬁ
srefar 3:4
HFHH 5:3
it 5:7
ESl 1.7%:2
GEIE] 3:5
e 5:4
BELot 6:3
ot forenfert 1 e = 4800
() fyvater i fogE U9 e fv 9ge A Sl

1 U 0 27
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(@) 3l o7 a¥ e fawy # faenfil w1 ufowa
A T B H G B qdr T8 AW A R
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Study the data given in the following multiple
bar chart which shows the production,
export and import (in million kg) of various
commodities by Country X and answer the
questions given below :

Production, Export and Import (in million kg)
of various commaodities

] [C] Production

— Il Export

] | HH Import

L

= i

] I i o2 £
Jute Tea Coffee Sugar Cotton
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In the case of which commodities are
the ratios of production to export
highest and lowest? Give the two values
also.

In the case of which commodity is the
highest percent of its production
exported? Give the percentage value
also.

What is the difference of percentage of
tea and jute import of their respective

production?

If for the Country Y the ratio of
production, export and import for cotton
is 5 : 4 : 3 and production of cotton in' Y
is same as in X, what quantity of cotton
will be exported and imported from the

Country Y?

By which quantity the export of sugar
should be increased so that the
difference between its production and

export is 25 times its import?

EF-EI/CC/M/2016-02A/49 8
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®  m =@ =
(%) T axgetl & fou Iemea qun fala =1 smgumm
HAfYwa @ =gEad 87 3 AF w st @i
(@) fra avg & fou Ius IeameT 1 rferray witwd
frafa g 27 sfowa 7 of s
(7) =T Ud S % IATET W 97 % w5 S
I ®7
(m) R fwdt 3wy % fou w6 % 3eaeq, fald w@
MA@ H A 5:4:3 B IR Y F w5 &
I X o I9EA % e B, A W Y 9 w8
. & fopet W Tl wd et @nfi?

EF-EI/CC/M/2016-02A/49 O [ P.T.O.



The Vision

(3) ¥ = fafa e semn w5 w0 sems

wd fafa &1 R @H @ F 25 [ R
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13. Study the following graphs and answer the
questions given below :

Trends in Production and Productivity of Rice
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(a) What was the percentage increase in

(b)

(c)

(@

rice production from the year 2005-06
to 2006-07?

In how many hectares was rice
cultivated in the year 2008-097?

What was the percentage increase in
rice cultivation area from the year
2006-07 to 2007-08?

In which year has the rice production
shown the highest increase over that in
the previous year?
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(e) The rice cultivation area in the year
2009-10 is what percent of that in
2005-06? 3

() What is the average rice production
in the six years during 2004-05 to
2009-10? 3

(g9) Assuming the price of rice to be ¥ 900
per quintal, what would a farmer
have earned if he had grown rice in
10 hectares in the year 2008-09? 5
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(@) af 2008-09 ¥ Ty g S = I
™Y

(M) = 2006-07 H ger § af 2007-08 H 1
T ¥ e § e shea A gfe
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(5) a§ 2009-10 H =& I w Aed, o
$005-06 ¥ Sea & fhan e =7

(@) =¥ 2004-05 & 2009-10 T - 3t = 3T
e 3 a7
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14. Study the following line graph which gives
the income of three Companies 4, B and C
during the period from 2006 to 2013 and
answer the questions that follow :

Income of three Companies (in lakhs rupees)

450 — *
400 i 7o b
aPLAZA
. ; \\ /,/ C
300 / i
250 —15 - = = :, i
200 *:/ // // -
150 s t
— —s— Company A _|
. . —m— Company B
50 -%- Company C ™
' | |

2006 2007 2008 2009 2010 2011 2012 2013
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fa) What is the percentage increase in the
income of Company A in 2013 as
compared to 20087 - - 4

() What is the ratio of incomes of
Companies A, B and C in 2010? 4

() Which Company has steepest rise in its -
income compared to the previous year

and what was the percentage rise? 5

(d) The total expenditure of Company B in
2009 was € 220 lakhs, which was
increased by 40% in the year 2010. Find
the percentage profit or loss earned by

the Company B in the year 2010. 6

fe) If the profits earned by the Companies
A, B and C in the year 2011 were 5%,
10% and 15%, respectively, find the
ratio of their total expenditures in that

year. 6

EF-EI/CC/M/2016-02A/49 13 [ BT.Q.
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(7) =l B %1 a9 2009 A @ =9 T 220 @@
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